| N of simulated tracks vs dxy | N of associated tracks (simToReco) vs dxy |

(] . ]
40} : o
S &l 5 =
= 0 i A R AR AR SRR ge}
© g ; Q
D(-D = . © 103
£l = 2
S 10Tt £
S 3
= 2 [ él:) 2
1035_ 10
10°F
E 10
1
0 Qo Y
IS T 1.05
o o
1
0.95¢
0.9E i i i i i i
5 10 15 20 -20 -15 -10 -5 O 5 10 15 20
TP dxy (cm) TP dxy (cm)
—=— DQM _original_step?2_ttbar-phasel-newgeom
| N of simulated trac —— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquareNew6_step2_ttbar-phasel-newgeom
8 = : : : 6’_’ : : :
O i : =
g e ;
Q 104 proceeeeeee R T e I3
I £ 10°
X B e = (2]
QO I : : c
o - 5 . 3
= ;o : o
10 ETTyT .. """""""" .- """""""""""" 4
I .
L :
102 AR AR AR ARARARARARAEE. SRR AR
7 :
C 4 y
R Ay
by LAY
0
- :I 11 _1 . 111 1 i 11 1 1 | 11 1 1 i 11 1 1 . 11 1 | - -r--l--l--;--l- r”l”l”‘l“l“[”l-
o +L.vo H H : 5 g 9 L.Vor o: :
Nl g | i
LU | : i : I
1 H||||H”||||||H 1_—--0---1»-----00 +-1¢ . B D T
0.95 ’

30 20 -10 0 10 20 30 09535 =20 -10 10 20 30

TP dz (cm) TP dz (cm)




	Contents
	Page 1


